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MAD Bees RAM Bees
To multiply bees with same bases, To Raise a bee to a power, Multiply exponents.

Merge bases and Add exponents.

Bees of the

Ram rams hive,
horn breaks off,
agitates bee,
raising its power.

same breed Same base breed

collide, get NNV

mad, then = VAT VR (22)3 (34)2  (42)3
decide towork  — U N2NP2W o@+3) 22x3)  34x2)  A2x-3)

as one by T TN % 38 46
merging bases =5 25

and adding 'Tl‘gi

powers. )7 Distribute horn’s power equally

VaraN to multiplied or divided bees

(2334) ) (272_ 2(3x2) 26

exponent power
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2B x23 34x32 42x43

2(3x2) J(4x2

5+-3 442 2+-3 4 qux2) 38
2(2+2 ) 3(3; ) 4(4;3 ) 2638 3 3 3
base breed Product hive Expand hive for added or subtracted bees
(23+34)2 = (25+ 34)(23+ 3¢)
Exponent expands base!
MUK Bees Root Bees
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Numerator = Power
Denominator = Root

To multiply bees with same powers,
Multiply bases and Keep exponent.

Same exponent power Fractional power Tired bge
/ with fraction
2 of full power
Screen Bees ST B e \yants to rest
. ) ] Y- —
Fly bee through fraction bar “screen | B under tree.
to lose/gain negative “antenna.” Root Hat hits root,
To get out of },,ﬂ,& flips off,
the muck, ”’gﬁj’g}ﬁ fraction
bees with scatters.
equal powers 5
multiply == 2 3
bases and ({ I@ 8
SNATe POWE. g 48
Gain antenna =78\ ~or-
2Px43 2x3 I 3
I = 3 2
(2x4)3 (2x3)2 [ R = i 8
83 62
Also works if same base & power 823 = '\I_ 2= 22 =
MUK  vs. MAD
23 x 3 23 x 3 8213 = I8 2—§| =4
MAD Bees
(2)(2)3 2(3 +3) 41/2 = ,\IZ = 2

to get positive
exponent. 1 1 1

43 26
64 = 64

Qr=.09%=33=27
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